5in 3 Hot Swap 2.

Cremax Europe GmbH
Weidenweg 21H

47059 Duisburg, Germany
Email: support@icydock.com

Copyright © ICY DOCK International. All Rights Reserved. 6501883 VER 4.0

Package Contents ® Packungsinhalt ® Contenu ® Contenido
del paquete ® BEIZDNT o BEEERAR @ B4R

Device

Backplane

Produit

Base de conexiones
AR

Emigs

FEmiLE

Quick Installation Guide
Bedienungsanleitung
Manuel d'utilisation
i Manual de instrucciones
\ . smE
FRERE

AR

M3*4 Screw x 8 for Device
M3*4 Schrauben x 8 (flir Backplane)
8 x vis M3*4 pour l'appareil

% x 8 Tornillos M3*4 x 8 para el dispositivo
TINAZFARY 8fH
SFASHINAR L FIRAR (M3x4)
BENIM T L AL (M3*4)

M3*4 Screw x 20 for 2.5" HDD
M3*4-Schrauben x 20 fiir 2.5-Zoll-Festplatte
Vis M3*4 x 20 pour HDD 2.5"
M3*4 tornillos x 20 para unidades de

g x 20 disco duro de 2.5"

2.5"HDD [ 5 Fi 2 20{& (M3*4)
20%E5H2. SR RR B A 2 4% (M3*4)
2052, 5¥HE AR T FIIELL (M3*4)

#6-32 Screw x 20 for 3.5" HDD
#6-32-Schrauben x 20 fir 3.5-Zoll-Festplatte
Vis #6-32 x 20 pour HDD 3.5"

#6-32 tornillos x 20 para unidades de
% x 20 disco duro de 3.5"

3.5"HDD[& 7 Fi #2018 (#6-32)
2058443, 5RTRE IR S A MR A% (#6-32)
20§A%13. 5 AR & R4 (#6-32)

Front Panel Information ® Frontseite ® Description Fagade @ Informacién
del panel frontal ® FifE /S JLIZDULNT © EHRESEREA © EARAT SRR

T
||

il

| 4 HDD1
| Power (Green) & Access (Amber) Indicator
H 2 HDD 2

Power (Green) & Access (Amber) Indicator

3 HDD 3
Power (Green) & Access (Amber) Indicator

HDD 4
Power (Green) & Access (Amber) Indicator

5 HDD 5
Power (Green) & Access (Amber) Indicator

6 Drive Ejection Button

Rear Panel Information e Riickseite ® Description Facade Arriére
® Informacion del panel trasero ® FHE/ \RJLIZDLVT © HiRERAAER
® LiRtRAE R

92mm Cooling Fan

©

=1
ce——sa®

SATA Power Port
Y- 2 Pin Fan Connector
HDD 5 —
E f3—— Fan Speed Jumper

& 3 Pin Fan Connector

| I | |
HDD 4 HDD 3 HDD 2 HDD 1

[C=——=7—15 Pin SATA Power Port [f==14— 7 Pin SATA Port

Fan Speed Jumper Settings ® Jumper-Einstellung fir
Luftergeschwindigkeit ® La Configuration du Cavalier de Vitesse
Ventilateur ® Configuracion del puente para la velocidad del ventilador
® J7UHBRAT Y N—DEAEFIR © EFFIEumper #RELER

® X EEIERJumper #AE ST

Fan Speed Jumper Jumper Setting Fan Speed

O O+HIGH High 100% (Default)
O O+LOW Low 60%
O O7OFF Off Off

The default setting is set to High (100% fan speed). If you wish to change the fan
speed,remove the jumper from the configuration header. Then plug the jumper into the
desired

Standardmafig ist der Jumper auf High (100% Liftergeschwindgkeit) gesetzt. Wenn
Sie die Liftergeschwindigkeit andern wollen, so ziehen Sie den Jumper ab und
stecken ihn auf die Position der gewiinschten Luftergeschwindigkeit.

La Configuration par défaut est définie sur “Haut” (100% la vitesse du ventilateur). Si
vous souhaitez modifier la vitesse du ventilateur, retirez le cavalier de la configuration
initiale. Ensuite, branchez le cavalier sur le réglage de la vitesse du ventilateur désiré
pour valider la modification.

De forma predeterminada, se establece en Alta (100% de la velocidad del ventilador).
Si desea cambiar la velocidad del ventilador, quite el puente del bloque de contactos
de configuracién. A continuacion, enchufe el puente en la configuracién de velocidad
del ventilador que desee para completar el cambio.

27 DEEREE [ hihen §— 1 EBREBT % (100%2 B ) . 1 BRSO & X
BLECE, D7 BB A E T BHABRRELEASRYHL, Sy~ REE
EIRSC A hY . ELAAET

B RRESEBA D AH i ehiR S (100%2880%) , RFEYRAHMIRIER, FHFEBRRE
?53535 E_EIJET,H":J%EHTLE}E&, BB B ERE Jumper AR AR HE S U B 18
Aj.
RUEFERERIA JoH i ghtR T (100%2581%) , MRFEYNIMAHTHEFER, HHMEHEE
%r}gﬁﬁﬁﬂrﬁ%}iuﬁimﬁﬁﬂj, BN R Jumper S EAIE N RIENHSMLE S
A].
Step 1 Step 2 Step 3 Step 4

Eikz ik ik

Installation Guide ® Installationsanleitung ® Guide d'Installation ® Guia
de instalacion e 2 G DA AAFIBICDOULT o BRIELER 0 RIESE

A. Press down the drive ejection button to release the tray lever and then use the lever
to extract the drive tray.

Auswurftaste nach unten driicken um den Hebel ausklappen zu lassen. Den Hebel
nutzen um den HDD-Carrier zu entnehmen.

Enfoncer le bouton éjecte pour faire sortir le levier; s'en servir pour extraire le tiroir.

Presione el botén de ejecucion para liberar la palanca de la bandeja; utilice la palanca
para extraer la bandeja del disco duro.

FLAZRYHTERE, FLAIZDWTWBS IO IMREVERL TSN,

TERSHN, EFEH, AFERRY.
TIESHN, EFEE, BEERE.

B. Select the appropriate screws to mount the 2.5" or 3.5" HDD to the corresponding
screw holes on the HDD tray. Insert the HDD tray into the device.

Wahlen Sie die passenden Schrauben, um die 2.5-Zoll- oder 3.5-Zoll-Festplatte in den
entsprechenden Schraubenléchern im Festplattentrager zu befestigen. Schieben Sie
den Festplattentrager in das Gerat.

Choisissez les vis appropriées pour monter le HDD 2.5" ou 3.5" dans les trous de vis
correspondant du plateau HDD. Insérez le plateau HDD dans I'appareil.

Seleccione los tornillos apropiados para instalar la unidad de disco duro de 2.5" 0 3.5"
en los orificios de los tornillos correspondientes de la bandeja para unidades de disco
duro. Inserte la bandeja para unidades de disco duro en el dispositivo.

HDDRL A28 B35 T D IRIZ2.54 o F FE =354 FHDDE T I+ Bz D 47k
FOEBIRLET, T/NMRICHDDRLAZHALET .

BIERREN2 509/3. SRR E AR, HEBMILEEERE, BEERREAREN.
EIRTRIEM2 551/3 5T REEMIRL, MRBLIEERER, BHEENEREFA.

2.5"HDD/SSD

3.5"HDD

M3*4 screw

C. Install the device onto the case. Connect the SATA ports to the motherboard and make
sure to connect three 15 Pin power ports from the power supply in order to obtain
enough power.

Installieren Sie die MB155SP-B Backplane in lhrem PC-Gehause. Verbinden Sie die
SATA-Anschlisse mit lhrem Motherboard und stellen Sie sicher, dass alle drei 15 Pin
Stromanschliisse angeschlossen werden um gentigen Strom zu beziehen.

Intégrer I'appareil au boitier d'ordinateur. Connecter les ports SATA avec ceux de la carte
mére ainsi que les 3 cable 15 pin d'alimentation.

Instale el dispositivo en la carcasa. Conecte los puertos SATA a la placa base y asegurese
de conectar los tres puertos de alimentacién de 15 pines de la fuente de alimentacion para
obtener suficiente potencia.

TN RET —RITEH LI, T —R—FESATAR—EEIERL TS 20K, RFF
[215PInBIR 7 — D LE L TS BRT—T L E+HEENNBETT.
HEMB155SP-BR FRIMAE T, 1EIESATA, O B AR L 3b FIRHE 1340 IR BT Y

SATA 15 Pin¥EBHE M AIIERRLEN, 1E1E.

FENB155SP-BI L EIHLFE b, EIESATALS DI BIZEHAR b A ESE 3L R TR R 351

SATA 15 Pinfsk=@AMIERERE), &EIE

(Optional) Cooling fan replacement diagram. Fan dimension: 92*92*25mm.
(Optional) Lifterinstallations-Diagramm. Lifter-MaRe 92*92*25mm.
(Facultatif) Installation du ventilateur. Dimensions : 92*92*25mm.

(Opcional) Diagrama de instalacion del ventilador de refrigeracion.
Dimensiones del ventilador: 92*92*25mm.

(AT 2aV) AHADOT7 2R AT HRE. 92x92x25mmH A XEFIFAL TSN
(RIR) ERERFREE. ERRTA92%92%25mm.
(&3 RBREFREE. XERTAH92%92%25mm.

ICY DOCK reserves the right to change product specifications, components,
or accessories without prior notice. For the warranty information, please
visit www.icydock.com/warrenty.php




